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Q.1 ar famars i gfR & g a1 o 9a= fifSgl

Ans X A SATEETE 9 UdIUTG doh olTdT § o9 9 fohaT 81?2
< B. 99 T 7T & fohd=T WIST SeT8TaTE & UdTaiTe deh?
o C. SATREE 8 Ui deh o I fohaT et onrar 872
25 D. 9 9 fRa=T ST ST & <k STgTag O UdTTe?

Question ID : 630680177090
Status : Not Answered
Chosen Option : --

Q.2 = d @ R TSRO S=gEiys ey U &
Ans X A fihg

X B.gd

X C.3rqa

o D. fhar

Question ID : 630680177113
Status : Not Answered
Chosen Option : --




Q.3 ‘T Uy gk 2T ¥ are’ guf RSl
R YT kAT 11T

Ans X A arsa
«* B.7aRA
< C. Sgamsa
25 D. qTereA

Question ID : 630680179321
Status : Not Answered
Chosen Option : --

Q.4 SURIRH dAtehifh o1 Wel TaT fohe arer 7 g a?
ST R AgTY SR e R

Ans X A TE & 9RT SR I HRIET §OTT; T # AT T 8T R o s |
o B. T A1z 7 o+t &7 3 forg Shrhl v foham UR a1t Y@ aRaifeh AT e gTg SfiR T
IEEIE]]
< C. = T TgTq STR T S Riifeh a1 QR § SHfeich TeTasiiett gidl ol

Z< D. Sifcha 99 — 3 o Tohd & UR UeT — folaT Ak g1 o TehdT Rilich =TT oRT 8T SR T
IEEIE]

Question ID : 630680179306
Status : Not Answered
Chosen Option : --

Q.5 suaiFarerfaa - A fRmadag?
=t ar fhads, g0 ané f@as

Ans X A. g fth Bl GtherdT Ag! Bt
" B. @i aafh fendi remer =it &a
#< C. 977d o 3%y a¥gQ srac &
2< D. 2Iid TTd ol ef<h Falehl &1 &l &

Question ID : 630680179307
Status : Not Answered
Chosen Option : --

Q.6 A faerel & | Iugeh STaTa 2reE T TR e # Rk &I &6t wRY|
oS R ___ gEeEl

Ans X A sidgt
< B. STl
& C &
X D. fosrd

Question ID : 630680179326
Status : Not Answered
Chosen Option : --




Q.7 T Ufasd shiet Al 9T Ug=TAq|
Ans X A T3 A g ?
X B. 18T qA Ssm gl # oft S
75 C. 3y ggf =1 sreit|
o D. 3TTST IS U aRY |

Question ID : 630680179345
Status : Not Answered
Chosen Option : --

Q.8 A aram A Iugh 21 T R ARt RS
e Sieig Cofainifl

Ans X A 3
5 B. ul@ae
< C.axw
o D. R

Question ID : 630680179317
Status : Not Answered
Chosen Option : --

Q.9 wiF - I frey A ‘wrRa’ & vataard 1= ford g 82

Ans X A. ST, [T, TgREE
7% B. TToige, faHmes, orafa
o C. 7-HY, URR, 31
25 D. sy, Herehs, g2

Question ID : 630680179287
Status : Not Answered
Chosen Option : --

Q.10 = arery & ¥gifehar ug i gt St FfSai
Tk 3=t Tgoft & gRT R ik @ T=ar g1

Ans X A Tfgoft
 B. ool
X C. et
X D. erft

Question ID : 630680179299
Status : Not Answered
Chosen Option : --




Q.11 frepeal & & Sugeh Iuw gk 2res Bieas arer gof Fifdgl
STSTTE VIR AT & 9= B

Ans o A 9Ud
X B.g3f
X C.g
/< D.Tgeg

Question ID : 630680179337
Status : Not Answered
Chosen Option : --

Q.12 = faepeal # & WIgaTaeh |7 2ree Sl arad ot hifag|
TFR & 3/ fastt

Ans X A FHIC
< B. amaf>
X &g
o D. iepfd

Question ID : 630680179323
Status : Not Answered
Chosen Option : --

Q.13 arr fa=ume Y g & 315 e o1 Tg= RSl
Ans o A H T HEI R EHY TR ST U Ugd ST |

75 B. & =E1 ¥ foh Ug T SN U U W WR|
75 C. 31Uk U Ugd SIS 9HY UR # 97 ST fah |
7< D. T7g TR AET eIl foh Ugal ST, 19 U1 H |

Question ID : 630680177091
Status : Not Answered
Chosen Option : --

Q.14 gt fi gfe @ Ry g a1 1 RIF-91 20w IHYF Bl
Rryferemera & gerafa srfem & g sifaeft &

Ans X A gpeufd
/< B. fayfemem
X C. ariehn
o D. sifqeft

Question ID : 630680177055
Status : Not Answered
Chosen Option : --




Q.15 @9 — |1 a1 Siehteh fohaT 8 Tea & ?
Ans X A eh A g Ul

#< B. fRreres = st 0t gama|

25 C. fRuTgt TRER s T4

o D. TIghi 7 agT a5 &

Question ID : 630680179361
Status : Not Answered
Chosen Option : --

Q.16 471 & @ -1 arers TRy Y T IaTexoT 81
Ans X A =9 geha W ad Ry &

X B. =T A goh 9 fRmm &1
X C. &9 7 geghet W 99 firrar o
o D. T = geh W 99 FRrar ghm |

Question ID : 630680177109
Status : Not Answered
Chosen Option : --

Q.17 = g g i3 are &t 35 FifSl
# gF, et ofi gufor 3fik uwads Al forgl

Ans X A #3 g aell, axor ofi g A Tl
o B. 73 T, el ado SR g wier of
X C. & &, &, afor Si g Hier oA
X D. 53 g, e, aor SR GeeR et v

Question ID : 630680179335
Status : Not Answered
Chosen Option : --

Q.18 fAfafEa & & w9-a1 fAeiw g srgafaa g1
Ans X A d - sffaed

X B. @ - 39

#5 C. 701 - g

o D. R - e

Question ID : 630680177050
Status : Not Answered
Chosen Option : --




Q.19

Ans

‘T & T Reperet 81 arer 7 R 81
25 A PUThReh
o B. SUTGHHRS
5 C. GHIeH%R%
5 D. SHBPREB

Question ID : 630680177116
Status : Not Answered
Chosen Option : --

Q.20

Ans

arera & Rh == & fog Sugeh fased e area gof &1
gl fRam & e @ e RAg a1

A 3

" B. W
< C. 3
725 D.UgrR

Question ID : 630680177082
Status : Not Answered
Chosen Option : --

Q.21

Ans

Comprehension:

TSI IE T Hateres Atch v faeT &1 It a e kRt @ ur g5 | B € ardeid o &9 H
ARATRAT 1 & BRI Tiel &l T o U &) A1 77! 59 336 3R g5 ol 8 [Rfid o &t gt
TRORT It foh SYEfenTel deh TTSTel halel Hedd TR AEgaT i SIS o g+ e, AY-foh et ofR
oAt @ & Tweg gt 28T I AR 7 Totet e dquf farw, actiedt arearach, stRga fau enfe @it s
TR AR © 8 TgUT ah ot | I o Teteren faseft nfefien duer & s WR feged™ & srort emen ST
# STfcIq Tohet §Y 1T I7h! TTeTel fore HTa-HUaT TR SMUTRA off, 98 8 -ah1el & AT i SNMYRId
Y & SR 39! Sieft ot Gra-g: Aok ot &1 a= cfvh & Tived & i wrenifares oretes gidt &
3R g2 afeh # OF et a1 fohsit et HRUS 819 el 88 Bl &1 3¢, TToTell § U, Sfia i s, alwer,
gadurRfierdr, dadT 3T & T1-are favg &l deu, Iarehl, Frrsm, garem, udten, Ufir &1 s, frer-
fRrepar 31fe; ot ga=t ATfHer &1 § 3R s+t fafaerdar & ary RfFa forar mar & fof 379 &= =af<h ot 3ot
et o1 gea-g @@ vafe gmefar & are e ST &1 HAT STedTh g9 BTell’ = Tl & avg e Gl
faregd e & oI <Y AT T 59 T <ht S1R ST foha ok TToter Sieft wemh faem & Sfia= &t aam
areafaehdrait st wiftfes & & Rfya forar s wnfg

SubQuestion No : 21

HIATHT STt g gTeft &l 7ToTet & &1 & =t & & o abvrer &7

< A IR TSI et ST [IGIg ST T8 ST chl AT ST <l |
& B. 3611 ToTdl I Sfia= &t areafaehdiat sl ATfes &1 & URgd e T TTe ST hY STRIET |
25 C. IBI7 TSIl ST SR T STRTYAT et ol TTEH T hT T I |

25 D. 3B TTSTeT et AR Wi SR AT a1 o TR [<IeheUT ehl HILIH B X6+ ot Sl ALl &l |

Question ID : 630680177132
Status : Not Answered
Chosen Option : --




Q.22

Ans

Comprehension:

TTSTeT 3¢, chl Farires wienio faer 1 3¢ ag e wreE 3 ured g3 1 Uffenr @ arahia & &u A

AR 1 & HRUT ToTel el T o O &) #11 77! 59 39ah 3R g5 ol &) R ot Y gt
TRORT Tt foh SYefenTel deh ToTel chael Hgqd STk AEgaT i IS o g+ warei, AY-fosh arart ofR
el @ & Tvg gidht W& 1 I ARt A wTotet ot Wyt faw, Jegaelt rearaeh, s fam onfy weft it
TR AR © & TE0T o ot | I o Teteren faseft wnfefien Wuer & aa WR fegea™ & srort emen sm
# SafcIg Tthet §Y 1T ITh! TToTel fore HTa-uaT TR SUTRa off, 98 & 3-ah1el & AT &Y SMYRYd
ATIAIY & IR ITeh! fofaft 1 ga-g:@ R dear g1 & &fh | died & ufd @reifdes e sk &
3R gR ef<h # OF oet a1 fohelt ot RS §19 ol §ORd GBIl &1 S, TTore! | U, Sfia i s, siver,
godurefierar, aadT e & arer-are farg &l agu, Iarh, R, garem, udten, Uffr &1 s, firer-
fRrepar anfe; el ga=t ATfHer &1 § 3R a1 fafdrerar & ary RfFa forar mar & foF 379 &= =af<h ot sroet
et a1 ea-g @ wafe gurefar & ary fe STrar &1 AT siedTh g9 ETell’ 3 ol & aeg e Y
fareqa e & oI <Y oAt eam 59 T <t SR ST foha 6 Troter Sieft wemh e & Sfia= &t aame
arafaendrait sl wiftfes & & Rfya forar s wrfg

SubQuestion No : 22
fada R as gl
<A fRuepar

" B. guar
X C.33m
2 D.goRd

Question ID : 630680177134
Status : Not Answered
Chosen Option : --

Comprehension:

TSTeT 3¢, ol Faifren wiiehiod faur 1 3¢ & ag e wReE 3 ured g3 1 Uffer @ aradid & &u A

AR I & BRI ToTel el HUT o U &) A1 77! $9H 339 TR g5 &l 81 Qi et ol Sat
TRURT Tl foh SefehTel ek ToTet chael Head SR Heaan i JwhTs & gofi= wara, #y-fa<h e ok
et @ & Tweg Bicft T8 I AR 7 Totet o A faw, et arearaeh, stRga fau anfy goft Hiw
R T1fE § 8 Tgr R &t 3¢ & ot el wrfgfies duar & s R figwam | srort areh s
# SHfcIg Tthel §Y HRlTch I7¢hl TTeTe! foTe HTa-TUaT TR SMUTRA off, I8 8 -1l & AT T SMYRI
TS & FSFIR Ieeht et ot gea-g@ MR oeal 81 8= aafeh # Eiwed o ufa w@reiferes oeen gl &
3R gR ef<h # UF oet a1 Rt ot HTRUE B9 ol §URd GBIl &1 &, TToTe! | U, Sfia hl s, siver,
guduTRfierar, adn sfe & -1y favg 6 asu, I, R, garem, udter, Uit o1 sramR, fer-
fRrenar anfe Y 3o ATfiies & & ofk gt Rifderar & Try R fovar man & 6 378 g2 <k @l st
et a1 ea-g @ wafe gurefar & ary fe Srar &1 HeT siedTh g9 grefl’ 3 ol & aeg e Bl
fIeqd &t o foTg @Rl AT T 39 T hl SR STTepE foharT Tk Toter St T2k farem & St i aam
arafaeRdss st wififes & & R forar s =g

SubQuestion No : 23

Q.23 71Tt k1 T fawa 0w & ot @i forar man?

Ans

< A, GETSTATE! G TTorad oY et IR e & T
75 B. BRI T1fgcd @ genfad g1 d2im ITY SIUHT WY UgUT et & BIRUT|

o C. 031 @ radia & &U & aarenfad g & &roT|

25 D. 3MeAfdchdT Ud WERIETE & U¥ge- & HRUT|

Question ID : 630680177131
Status : Not Answered
Chosen Option : --




Q.24

Ans

Comprehension:

TTSTeT 3¢, chl Farieres aienio faer 1 3¢ & ag e wReE 3 ured g3 | Uffenr @ arahia & &u A

AR 1 & HRUT ToTel el T o O &) #141 77! 59 33ah 1R g5 ol &) R e &y gt
TRURT Tl foh efentel deh ToTet chael Hegd SR HegaT i Jrs & gofi= e, #y-fa<h arami ofk
el & & Tvg gidht W& 1 I ARt A wTotet ot Tyt faw, degarelt rearach, s fum onfg waft it
TR AR © & Tg0T o ot | I o Teteten faseft wnfefien uer & aa wR fegea™ & srort emes M
# gafcIg Tthet §Y 1T ITh! TToTet fore Ta-uaT TR SUTRa off, 98 & 3-ah1et & AT & SMYRYd
ATTY & IR ITeh! fofaft 1 ga-g @ R dear g1 & &fh & died & ufd @reifdes e gkt &
3R gR ef<h # OF oet a1 Rt ot RS 819 ol §ORd GBIl &1 S, TTore! | U, Sfia i s, siver,
gourefierar, aadT e & arer-are farg &l agu, Iarh, FRram, garem, udten, Uffr &1 s, firer-
fRrepar anfe; el ga=t ATfHer &1 § 3R a1 fafdrerar & ary RFa forar mar & fof 378 &= =af<h ot ot
et o1 gea-g @ wafe gurefar & ary e Srar &1 ST siedTh g9 grell’ 3 Mol & avges Bl
farqa o & o <l oAt e 59 T <t SR ST foRa o6 Troter Sieft werh e & Sfia= &t aam
arafaeRdrsit &t AT &1 § R fhar S Tnfgyl

SubQuestion No : 24
ToTe & fagaft faen g9 & ugye +ft figwam 7 sreia At 819t & i3 & swont & day A s/
&

25 A, I8 TToTE # Sita 6 e, S, gAadurRiierar qu o snfe i sifeat g8 & St 7S A
ifgd et 21

#< B. g & | Hicd o ufd wW@rifaeh aieten gid! & SR Totet dieargefd ¥ gikgef faer g1

X C. Troied I HTa-3UaT IR SMUTRA § T8 82 &X1-chiel & WS hl TR HIe1d &

& D. TSI A9 Sl I9 FAmT 9Ty iR & St 8 T8t 9 St o 9Ra-:@ O H<h &1 SIIdl &

Question ID : 630680177135
Status : Not Answered
Chosen Option : --

Comprehension:

TTSTeT 3¢, ol Fatfereh diehibd fae 81 3¢ & g [ear wref 3 ured g3 1 Uffer @ aradia & &u H

AR B & BRI Teiel el T v U &) #1471 77! $9H 3%eh SR g5 ol a1 [ aheet &bt Ot
QRO Tt foh STefehTel deh Teict chael Hedd SR HeadT i JthTs & gefi= waret, #y-fa<h aramt ik
oAt @ & T9g Biclt 6T 1 IE AR = Toter e Aqof fawm, Tceieredt erearaeh, srrgd faam anfe a+ff @i
BRE TIfE & g TgUr ot | 3¢ & Torerenr el wrfgfies duar & o« R figmam & srort areh s
# g9y Ghel gY Rifch I ToTel o1 HIa-Huar UR SuTRd off, a8 83 31-aTel o 7S i STeaRYd
TS & FoRIR It ffeft &1 ga-g MR ot 81 8= afth # Hied o ufa @mifees aeen gt &
3R X aafh & U ot a7 et o DTS g1 Y g9k Bidit &1 I TToTed & U, Sfia i s, et
grdurfierdr, a=Taar snfe & Try-any forg &t dsu, Iarh, A==, g, udtet, Hffw o1 sramr, [
fRreRar o ot 3= w1fifen &1 & ofk 3ot fafderan & ary R farar ma & s 379 e afs &) srosht
foterft o1 Gea-g @@ vafd Furefar & T et ST &1 Hie T sTeaTth g8+ ‘ETelt’ 3 ToTel & agE ot
faeqa &<t & forg Rl AT T 39 I hl TR S1TepE fohar foh Toter St 92k farem & Sftae i aam
arafaendrsit st mfifes & & Rfya forar s wnfg

SubQuestion No : 25

Q.25 3¢ 75T ol B! Tifgwr A fFe = & yawnfaa 7 frar?

Ans

o A ITH TGpa-s T

25 B. 3T g faem atsrr
2< C. 3Tl fawgayg

25 D. qcgset Arearaett

Question ID : 630680177133

Status : Not Answered

Chosen Option : --




Q.1 Select the most appropriate option to fill in the blanks.
In its revision to a disease classification manual, the World Health Organization said

on Monday that compulsively playing video games now as a new mental health
condition. The statement confirmed the of many parents but led some critics to warn

that it may risk stigmatising young video players.
Ans o A latest; qualifies; fears

25 B. earliest; introduces; apprehensions
< C. fastest; labels; dreams

2% D. newest; defines; tears

Question ID : 630680179498
Status : Answered
Chosen Option: B

Q.2 Select the most appropriate adjective to fill in the blank.
Her books were written about indigenous people.

Ans  # A early
75 B.then
25 C. ancient

25 D. sooner

Question ID : 630680179502
Status : Answered
Chosen Option: C

Q.3 Choose the option that completes the proverb used in the following sentence.
A chain can only be as strong as its , S0 we must look at the least committed country

to see if the alliance will hold.
Ans X A lastlink

#< B. smallest loop
25 C. final catch
¥ D. weakest link

Question ID : 630680179458
Status : Answered
Chosen Option: D

Q.4 Select the most appropriate ANTONYM of the given word.
Figurative

Ans o A Literal
< B. Colloquial
< C. Symbolic
#< D. Poetic

Question ID : 630680179444
Status : Answered
Chosen Option: B




Q.5 Select the most appropriate option that conveys the meaning of the words in the brackets to
fill in the blanks.
The kingdom of the Greeks is now (to divide a country or an empire into different
parts) by them and (to take something away from) of territory.

Ans X A. scattered; short

#5 B. gone; away
¥ C. dismembered; deprived
25 D. small; full

Question ID : 630680177367
Status : Answered
Chosen Option: C

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

(A) Today that dream is over.

(B) If spending money like water was the answer to our country’s problems, we would have
no problem now.

(C) If ever a nation has spent, spent, spent and spent again, ours has.

(D) All of that money has got us nowhere, but it still has to come from somewhere.

Ans X A ABCD
« B.BCAD
2< C.DCBA
2< D.BADC

Question ID : 630680177350
Status : Answered
Chosen Option: B

Q.7 Select the most appropriate article to fill in the blank. In case no article is needed, select
‘No article needed'.

An hour p , and not single person is called from the waiting room.
Ans X A. No article needed
< B.the
& C.an
' D.a

Question ID : 630680177394
Status : Answered
Chosen Option: D




Q.8 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order
to form a meaningful sentence.
A. to yourself exactly what it is
B. until you are ready to admit
C. that you want
D. you will experience confusion

Ans X A DCBA
2 B.DBCA
& C.BACD
7< D.BDCA

Question ID : 630680179467
Status : Answered
Chosen Option: B

Q.9 Select the correct spelling of the word underlined in the given sentence.
You will be embarassed by their hospitality even though they have nothing.

Ans X A. Embarrased
< B. Embearased
4" C. Embarrassed
#< D. Embarased

Question ID : 630680177345
Status : Answered
Chosen Option : A

Q.10 Select the most appropriate synonym of the given word.
Epicure

Ans X A. Treatment
#< B. Panacea
" C. Gourmand
< D. Wisdom

Question ID : 630680179450
Status : Answered
Chosen Option : A

Q.11 Select the option that expresses the given sentence in active voice.
My most expensive Gucci watch has been stolen.

Ans X A. Thieves stole my most expensive Gucci watch.
4" B. Someone has stolen my most expensive Gucci watch.
#5 C. He stole my Gucci watch which was the most expensive.

25 D. My Gucci watch, which was the most expensive, was stolen.

Question ID : 630680179472
Status : Answered
Chosen Option: B




Q.12 Select the most appropriate idiom that can substitute the underlined segment given below.
Nirmala stole her mentor’s work and published it as her own. This is such a classic case of
acting_ungratefully.

Ans X A kettle calling the pot black
4" B. biting the hand that feeds you
#< C. stealing the silver
#< D. turn coat

Question ID : 630680177336
Status : Answered
Chosen Option: B

Q.13 Select the most appropriate option that can substitute the underlined segment in the given
sentence to make the sentence grammatically correct.
The early decades of the fourth century BCE saw the emergence of an ambitious
Macedonian who dreamed of conquering not just the Achaemenid country and whatever
lied further east.

Ans X A. but whatever laid also
¥ B. but also whatever lay
< C. but whatever also lay

< D. but also whatever laid to

Question ID : 630680179486
Status : Answered
Chosen Option: D

Q.14 Select the most appropriate option that can substitute the underlined segment in the given
sentence.
Your members of a family, national or religious group who lived in the past decided that they
must have representation for taxation, many, many years ago.

Ans X A. companions
" B. forefathers
#< C. friends
#5 D. neighbours

Question ID : 630680177373
Status : Answered
Chosen Option: B

Q.15 Select the most appropriate present tense of the verb in the brackets to fill in the blank in
the sentence below.
Ruth (look) into my eyes, and for a moment, | can see right down into the heart of her.

Ans X A.was looking
2 B.look

" C.looks
#5 D. looking

Question ID : 630680177399
Status : Answered
Chosen Option : A




Q.16 Select the correctly spelt word.
Ans X A.Riegn

75 B. Hieght
« C. Receive
< D. Seive

Question ID : 630680179462
Status : Answered
Chosen Option: C

Q.17 Select the most appropriate articles to fill in the blanks. In case no article is needed, select
'No article required'.
Monday is going to be

Ans X A. The; the
< B.The;a

busy day for us.

" C. No article required; a

< D. No article required; no article required

Question ID : 630680179512
Status : Answered
Chosen Option: C

Q.18 Select the most appropriate option that conveys the meaning of the words in the brackets to
fill in the blanks.
But cana
occasion), however

(a formal talk given usually to a large number of people on a special
(likely to be remembered or worth remembering), change history?

Ans X A. song; sweet
" B. speech; memorable
< C. poem; musical

< D. inspiration; great

Question ID : 630680177357
Status : Answered
Chosen Option: B

Q.19 Select the appropriate option to fill in the blanks.
Twice a week, two team members an entire day to 100 restaurants and three
hospitals around Singapore picking up our trash-hundreds of thousands of used chopsticks.

Ans X A. spended; travel

" B. spend; travelling
< C. spent; travelled

< D. spending; were travelling

Question ID : 630680179519
Status : Answered
Chosen Option: B




Q.20 Select the most appropriate verbs to fill in the blanks.

They their destination, but they did not want to the man that awaited them.
Ans X A. approach; be encountering
< B. approached; encountered
#< C. had approached; be encounter
«" D. were approaching; encounter
Question ID : 630680179504
Status : Answered
Chosen Option: D
Comprehension:
Read the given passage and answer the questions that follow.
A man brought from town five of the finest peaches that were to be had. His children had
never seen this fruit; therefore, they were highly delighted to see the beautiful peaches with
their red cheeks and delicate bloom.
The father gave one to each of his four boys, and one to their mother. In the evening, just
before the children went to bed, he asked them, "Well, how did you like the nice peaches?"
"Very much, indeed," said the oldest boy. "It is a delicious fruit, delicate, with a luscious flavor. |
have taken care of the stone so as to grow a tree." "Well done," answered the father. "It is the
duty of a good person to be economical and to think of the future."
" ate mine up," exclaimed the young twins in unison, "Well," said the father, "you still have time
in life to become prudent." Then another son began: "l sold my own peach and received so
much money for it that | may buy a dozen when | go to town."
The father asked Shirish, who answered: "l took my peach to the son of our neighbor, sick
Gaurav, who has the fever. He would not take it, so | put it down on his bed and went away."
"Well," said the father, "who has made the best use of his peach?".
Then all the boys exclaimed: "Brother!" Shirish was silent, and his mother embraced him with
tears in her eyes.
SubQuestion No : 21
Q.21 What is the central theme of this passage?
Ans X A.Aloving neighbour is the best gift to anyone.

«” B. The best way to live life and all that it offers is by helping others.
75 C. Different people have different ideas of happiness.

< D. There are different ways in which one thing can be used.

Question ID : 630680179542

Status : Answered

Chosen Option: C




Comprehension:

Read the given passage and answer the questions that follow.

A man brought from town five of the finest peaches that were to be had. His children had
never seen this fruit; therefore, they were highly delighted to see the beautiful peaches with
their red cheeks and delicate bloom.

The father gave one to each of his four boys, and one to their mother. In the evening, just
before the children went to bed, he asked them, "Well, how did you like the nice peaches?"
"Very much, indeed," said the oldest boy. "It is a delicious fruit, delicate, with a luscious flavor. |
have taken care of the stone so as to grow a tree." "Well done," answered the father. "It is the
duty of a good person to be economical and to think of the future."

"l ate mine up," exclaimed the young twins in unison, "Well," said the father, "you still have time
in life to become prudent." Then another son began: "l sold my own peach and received so
much money for it that | may buy a dozen when | go to town."

The father asked Shirish, who answered: "l took my peach to the son of our neighbor, sick
Gaurav, who has the fever. He would not take it, so | put it down on his bed and went away."
"Well," said the father, "who has made the best use of his peach?".

Then all the boys exclaimed: "Brother!" Shirish was silent, and his mother embraced him with
tears in her eyes.

SubQuestion No : 22
Q.22 Which of the following cannot be inferred from the passage?
Ans X A.The boy's mother also got to eat a peach

#5 B. The father wanted to bring joy to the boys, so he got them peaches.
< C. The oldest boy was mindful about the future

«# D. The family in this story was a poor family.

Question ID : 630680179545
Status : Answered
Chosen Option: D

Comprehension:

Read the given passage and answer the questions that follow.

A man brought from town five of the finest peaches that were to be had. His children had
never seen this fruit; therefore, they were highly delighted to see the beautiful peaches with
their red cheeks and delicate bloom.

The father gave one to each of his four boys, and one to their mother. In the evening, just
before the children went to bed, he asked them, "Well, how did you like the nice peaches?"
"Very much, indeed," said the oldest boy. "It is a delicious fruit, delicate, with a luscious flavor. |
have taken care of the stone so as to grow a tree." "Well done," answered the father. "It is the
duty of a good person to be economical and to think of the future."

" ate mine up," exclaimed the young twins in unison, "Well," said the father, "you still have time
in life to become prudent." Then another son began: "l sold my own peach and received so
much money for it that | may buy a dozen when | go to town."

The father asked Shirish, who answered: "l took my peach to the son of our neighbor, sick
Gauray, who has the fever. He would not take it, so | put it down on his bed and went away."
"Well," said the father, "who has made the best use of his peach?".

Then all the boys exclaimed: "Brother!" Shirish was silent, and his mother embraced him with
tears in her eyes.

SubQuestion No : 23

Q.23 Which of the following summarises the passage in one sentence?

Ans X A.Afamily ate a new fruit, so they used its seed in different ways, showing different
ideas, and all agreed that Shirish put it to the best use and they should have thought that too.

< B. The father of 4 boys got peaches from the town to test his sons, and Shirish was the
winner as everyone voted for him.

< C. The father brought peaches for the family, who enjoyed the fruit, but Shirish did not
eat it as he gave it away to the sick neighbour.

«# D. Four boys who had never had peaches were given the fruit by their father, and they all

used the fruits in different ways, although Shirish did not eat his as he gave it to Gauray,
which all thought to be the best use of the fruit.

Question ID : 630680179544
Status : Answered
Chosen Option: D




Comprehension:

Read the given passage and answer the questions that follow.

A man brought from town five of the finest peaches that were to be had. His children had
never seen this fruit; therefore, they were highly delighted to see the beautiful peaches with
their red cheeks and delicate bloom.

The father gave one to each of his four boys, and one to their mother. In the evening, just
before the children went to bed, he asked them, "Well, how did you like the nice peaches?"
"Very much, indeed," said the oldest boy. "It is a delicious fruit, delicate, with a luscious flavor. |
have taken care of the stone so as to grow a tree." "Well done," answered the father. "It is the
duty of a good person to be economical and to think of the future."

"l ate mine up," exclaimed the young twins in unison, "Well," said the father, "you still have time
in life to become prudent." Then another son began: "l sold my own peach and received so
much money for it that | may buy a dozen when | go to town."

The father asked Shirish, who answered: "l took my peach to the son of our neighbor, sick
Gauray, who has the fever. He would not take it, so | put it down on his bed and went away."
"Well," said the father, "who has made the best use of his peach?".

Then all the boys exclaimed: "Brother!" Shirish was silent, and his mother embraced him with
tears in her eyes.

SubQuestion No : 24
Q.24 Who planted the peach using its seed/stone?
Ans X A.Thetwins

#< B. Shirish
25 C. The father

4" D. The oldest son

Question ID : 630680179543
Status : Answered
Chosen Option : D

Comprehension:

Read the given passage and answer the questions that follow.

A man brought from town five of the finest peaches that were to be had. His children had
never seen this fruit; therefore, they were highly delighted to see the beautiful peaches with
their red cheeks and delicate bloom.

The father gave one to each of his four boys, and one to their mother. In the evening, just
before the children went to bed, he asked them, "Well, how did you like the nice peaches?"
"Very much, indeed," said the oldest boy. "It is a delicious fruit, delicate, with a luscious flavor. |
have taken care of the stone so as to grow a tree." "Well done," answered the father. "It is the
duty of a good person to be economical and to think of the future."

"l ate mine up," exclaimed the young twins in unison, "Well," said the father, "you still have time
in life to become prudent." Then another son began: "l sold my own peach and received so
much money for it that | may buy a dozen when | go to town."

The father asked Shirish, who answered: "l took my peach to the son of our neighbor, sick
Gauray, who has the fever. He would not take it, so | put it down on his bed and went away."
"Well," said the father, "who has made the best use of his peach?".

Then all the boys exclaimed: "Brother!" Shirish was silent, and his mother embraced him with
tears in her eyes.

SubQuestion No : 25
Q.25 Which of the following words can replace the word ‘prudent’ in the passage?
Ans X A. Practical

4" B. Judicious
< C. Organised
< D. Respectful

Question ID : 630680179546
Status : Answered
Chosen Option: B




Q.1 Which of the following Harappan cities had massive reservoirs that were used for storing
fresh water brought by rains or to store water diverted from two nearby rivulets?

Ans X A Lothal
«" B. Dholavira
< C. Ganeriwala
< D. Kalibangan

Question ID : 630680177462
Status : Answered
Chosen Option : A

Q.2 Which of the following statements is NOT correct?

Ans X A. There is a constitutional requirement in India to present before the Parliament a
statement of estimated receipts and expenditures of the government in respect of every
financial year.

«" B. Article 114 mentions the constitutional requirement of the presentation of the budget
every financial year.
2<% C. The budget comprises of the Revenue Budget and the Capital Budget.

#< D. The financial year runs from 1 April to 31 March.

Question ID : 630680182897
Status : Answered
Chosen Option: B

Q.3 According to the Global Multidimensional Poverty Index 2022, around people in India

climbed out of poverty between 2005-06 and 2019-21.
Ans o A 415 million

#< B. 315 million
2< C. 515 million
2< D. 215 million

Question ID : 630680182859
Status : Answered
Chosen Option: B

Q.4 Which of the following statements is correct/incorrect with respect to bonds?

i.Bonds are papers bearing the promise of a future stream of monetary returns over a
certain period of time.

ii. These papers are issued by governments or firms for borrowing money from the public
and they are tradable in the market.

Ans o A. Both Option i and Option ii are correct.
Z5 B. Both Option i and Option ii are incorrect.
< C. Only Option i is correct.
2< D. Only Option ii is correct.

Question ID : 630680182899
Status : Answered
Chosen Option : A




Q.5 Who of the following is NOT related to the ghazal singing?

Ans X A. Ghulam Ali
#5 B. Jagjit Singh
25 C. Mehndi Hasan

¥ D. Haribhai Varadkari

Question ID : 630680182892
Status : Answered
Chosen Option: D

for sexual reproduction.

Q.6 Bryophytes are plants which are dependent on
XA air

< B.insects

< C. soil

" D. water

Ans

Question ID : 630680182925
Status : Answered
Chosen Option : D

Q.7 In which year did NABARD come into existence by transferring the agricultural credit
functions of RBI and refinance functions of the then Agricultural Refinance and
Development Corporation (ARDC)?

Ans X A.12July 1980
7 B.12 July 1978
«" C. 12 July 1982

< D. 12 July 1976

Question ID : 630680179696
Status : Answered
Chosen Option: C

Q.8 Which state in India has registered 917 females per 1000 males in 2022?
25 A. Rajasthan

< B. Punjab

Ans

" C. Haryana
#5 D. Uttar Pradesh

Question ID : 630680182915
Status : Answered
Chosen Option : A




Q.9 Who discovered the phenomenon of neutron-induced fission of uranium, which would serve
as the basis of nuclear power reactors and nuclear weapons?

Ans X A. Neil Bohr
< B.J J Thomson
" C. Hahn and Meitner
Z5 D. Einstein

Question ID : 630680179720
Status : Answered
Chosen Option: C

Q.10 What was the original name of Swami Vivekananda, who combined the simple teachings of
Sri Ramakrishna with his well-founded modern outlook and spread them all over the world?

Ans X A.Vishwanath Das
#< B. Narendra Kumar
25 C.Vishwanath Dutta

«” D. Narendra Nath Dutta

Question ID : 630680179671
Status : Answered
Chosen Option : D

Q.11 Under the Jurisdiction of the Supreme court of India, if a Dispute occurs between Union and
States, it will solve under which type of the following Jurisdictions?

Ans X A. Advisory
«" B. Original
2 C. Writ
< D. Appellate

Question ID : 630680179737
Status : Answered
Chosen Option : D

Q.12 Charter Act of 1813 does NOT mention which of the following provisions?

Ans X A. It empowered the Local Governments in India to impose taxes on persons and to
punish those who did not pay them.
#< B. The Charter act of 1813 ended the monopoly of the East India Company in India, the
company’s monopoly in trade with China and trade in tea with India was kept intact.
< C. The act granted permission to the persons who wished to go to India for promoting
moral and religious improvements

" D. There was also a provision that the Company should invest 5 lakh every year on the
education of Indians.

Question ID : 630680182874
Status : Answered
Chosen Option : A




Q.13 ‘JAGA Mission', which received the UN-Habitat World Habitat Award 2023’ for the second
time, is related to which state?

Ans X A Tamil Nadu
< B.Rajasthan
< C.Bihar
«# D. Odisha

Question ID : 630680179652
Status : Answered
Chosen Option: D

Q.14 Which is NOT correct about provisions under Article 15 of the Constitution of India?

Ans & A There is no special provision for women and children under this article.

2% B. No restriction to the use of wells, tanks, bathing ghats, roads and places of public
resort maintained wholly or partly out of State funds or dedicated to the use of the general
public.

#5 C. No citizen shall, on grounds only of religion, race, caste, sex, place of birth or any of
them, be subject to any disability, liability, restriction or condition with regard to-(a) access to
shops, public restaurants, hotels and places of public entertainment.

25 D. The State shall not discriminate against any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them.

Question ID : 630680182937
Status : Answered
Chosen Option : A

Q.15 Which of the following is NOT included in the Union List?
Ans X A. Foreign affairs

75 B. Atomic energy
" C. Prisons
< D. Defence

Question ID : 630680182939
Status : Answered
Chosen Option: C

Q.16 Which of the following statements is correct/incorrect with respect to the Kuchipudi dance
form?
i. Kuchipudi, one of the major dance forms of India was originated from Andhra Pradesh.
ii. Kuchipudi grew largely as a product of Bhakti movement beginning in the 9th Century AD.

Ans  # A Only Optioniis correct.
25 B. Both Option i and Option ii are correct.
< C. Only Option ii is correct.

#< D. Both Option i and Option ii are incorrect.

Question ID : 630680182884
Status : Answered
Chosen Option: B




Q.17 Thermal energy is the energy of a body arising from the motion of its atoms or molecules. It
is directly proportional to the of the substance.

Ans X A weight

< B. speed
" C. temperature

#< D. mass

Question ID : 630680182931
Status : Answered
Chosen Option: D

Q.18 Which of the following is correct/incorrect with regards to the Hindustani music?
i.Hindustani music is based on the raga system.
ii.The form of the raga is determined by the particular pattern of ascent and descent of the
notes, which needs to be strictly linear.

Ans X A. Both Option i and Option ii are correct.
£5 B. Only Option ii is correct.
#5 C. Both Option i and Option ii are incorrect.

+" D. Only Option i is correct.

Question ID : 630680182888
Status : Answered
Chosen Option : A

Q.19 IR WA & AT SeATeRl | g3 dAcentet aaeh Affaerreni= auf iR ugrst # athart @t wnfaew
ERI___ FgI S gl
Ans & A Hgldd
/< B. @A
< C.udrg
25 D. smsfiafe

Question ID : 630680182914
Status : Answered
Chosen Option: B

Q.20 Which sport does Nikhat Zareen play?
Ans X A. Athletics

< B. Wrestling
< C. Badminton
«" D. Boxing

Question ID : 630680182863
Status : Answered
Chosen Option: D




Q.21 Which of the following is/are correct/incorrect with respect to writings on Akbar?

i.Abul Fazal wrote a three-volume history of Akbar’s reign, titled Akbar Nama.
ii.The third volume is the Ain-i-Akbari, which deals with Akbar’s ancestors.

Ans X A.Both option i and Option ii are incorrect.
#< B. Only option ii is correct.
#< C. Both option i and Option ii are correct.

" D. Only option i is correct.

Question ID : 630680182870
Status : Answered
Chosen Option : A

Q.22 Which is the poorest state of India as of 2022?
Ans X A. Chhattisgarh

" B. Bihar
75 C. Assam
< D. Uttar Pradesh

Question ID : 630680182853
Status : Answered
Chosen Option : B

Q.23 How much solar power installed capacity has reached India as of November 2022,
according to the report of the Government of India?

Ans X A.76.97GW

75 B.65.97 GW
75 C.5597 GW
« D.61.97 GW
Question ID : 630680182919
Status : Answered
Chosen Option : A
Q.24 Goa has deposits.

Ans X A.lime-stone

< B. aluminium

25 C.coal

&” D.iron ore

Question ID : 630680182908
Status : Answered
Chosen Option : B




Ans

Q.25 Which of the following institutions won the Digital India Award 2022-Gold?

" A. Central Board of Secondary Education
25 B. University Grants Commission
< C. National Council for Educational Research and Training

< D. Central Advisory Board on Education

Question ID : 630680182850
Status : Answered
Chosen Option : A

Section : General Intelligence

Q.1

Ans

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one

that is different.

« A RIQR
X B EGCD
X ¢. SUQR
X D. VXTU

Question ID : 630680182792
Status : Answered
Chosen Option: A

Q.2

Ans

A group of numbers and symbols is coded using letter codes as per the table given below and the conditions that
follow. Study the given codes and conditions and answer the question that follows.

[ Numbers/symbols | * [ 2 [~ T+ [7 [# [% [8
| Letter codes 7 | |JA |F [D N [R [K [M|Z ]|

Conditions
(i) If the first and last elements are symbols, the codes for these two (the first and the last elements) are to be
interchanged.

(ii) If the first element is an odd number and the last, an even number, the first and last elements are to be coded as ‘B’.

What will be the code for the following group?
%2@9@?

X A APMFM

« B. APAFM

X< C. MPAFA

< D. APADA

Question ID : 630680182774
Status : Answered
Chosen Option: C




Q.3  Select the letter from among the given options that can replace the question mark (?) in the following series.
R B UCXD.?
Ans ¢ A 7
#B A
XC B
XD E

Question ID : 630680182759
Status : Answered
Chosen Option: B

Q4 37 fawed & T F S AW 9T F I THER TAOT § W TR g 9e 9Ee U ® We i g
(areal v W FEr o AW ST TiRT AT aeg # 3Rt fr dww f semses ST fr 5T+
HUR T TF g8l § TEMog 78 B s =aie)

RAS  JgT C 2E  ?

s XA Peew
X B FeTur
X c Fas
o D. IHIA=T

Question ID : 630680182789
Status : Answered
Chosen Option: D

Q.5 Select the number from among the given options that can replace the question mark (?) in the following series.
4096, 1024, 512, 128, 64, ?
Ans XA 12
¥ B 10
xC 8
XD 32

Question ID : 630680182816
Status : Answered
Chosen Option: B




Q.6  What approximate value should come in place of the question mark (?) in the following equation?

3480+ 7.12=402+992-15.11=7
Ans XA 10

X8 18

#C 15

XD 30

Question ID : 630680182825
Status : Answered
Chosen Option: C

Q.7 Study the given diagram carefully and answer the question that follows. The numbers in different sections indicate the

mumber of persons with different means of transport.

Car Jeep
&

Motor bike

How many such persons are there who have either only car or only jeep as their means of transport?

Ans XA 0F
X B. 51
+C 112
K D. 45

Question ID : 630680182754
Status : Answered
Chosen Option: C

Q.8 Four letter triads have been given. out of which three are alike in some manner and one is different. Select the one that

is different.

Ans XA A—E-1I

XBI-0-U
XC E-I-0O
«+D E-O0-U

Question ID : 630680182797
Status : Answered
Chosen Option: D




Q.9

If in a certain code language, ‘LAWYER' is written as ‘ATYWRE’, and ‘LEGACY " is written as ‘ELAGYC’. How
will ‘LEAGUE’ be written in that language?

Ans

Ans X A EUGAEL
X B. ELAGEU
< ¢ ELAUGE
« D. ELGAEU
Question ID : 630680182770
Status : Answered
Chosen Option: D
Q.10

Which two signs should be interchanged to make the following equation correct?

{65 —25)+ 2+ x2+8)]+2=6
KA +and —
X B +and+
« C X and =
XD X and +

Question ID : 630680182830
Status : Answered
Chosen Option: C

Q.11

Ans

5 girls K, O, V. T, and S are sitting around a circle facing the centre. T sits exactly between O and K. V sits exactly
between K and S. Who is sitting in between V and O?

XA T
XB U
+C 5
XD K

Question ID : 630680176390
Status : Answered
Chosen Option: C

Q.12

Ans

Identify the number that does NOT belong to the following series.

1,1,2,8,3,27,4, 65,5, 125
XA 27

XB 8

X C 125

+ D. 65

Question ID : 630680173454
Status : Answered
Chosen Option: D




Q.13 Pointing to an old woman Akshay said. “Her son is my son’s uncle”. How is the old woman related to Akshay?

Ans XA Father
+ B. Brother
X C. Sister
X D. Uncle

Question ID : 630680176442
Status : Answered
Chosen Option: D

Q.14 Ridhi starts walking towards the west. After walking 30 m, he turns left and walks 40 m. He takes another left turn and
walks 50 m. Finally, he turns left once again and walks further 40 m to reach a cybercafe. How far is the cybercafe

from his starting point, and in which direction is it with respect to the starting point?

Ans X A. 50 m due east
A B. 100 m due west
X C. 20 m due west
+ D 20 m due east

Question ID : 630680182778
Status : Answered
Chosen Option : D

Q.15 Each vowel in the word ASSERTIVE is changed to the letter following it in the English alphabetical order, and each
consonant is changed to the letter preceding it in the English alphabetical order. If each letter thus formed is arranged
in the alphabetical order, which letter will be second from the right?

Ans s A g
XB F
XC R
XD U

Question ID : 630680182763
Status : Answered
Chosen Option : A




Q.16 Select the figure from among the given options that can replace the question mark (?) in the following series.

.DO OD‘
&,

o, o
&%,
FO

Ans

% D.

’DO DD’ .DG' DD’ ..DD OD. .DO OD‘
B | |57 [oF 0 | |50,

Question ID : 630680182799
Status : Answered
Chosen Option : A

Q.17 Refer to the given number-symbol series and answer the question that follows.

(Left) @434 %FSE2@ 1 #2%5@ 1 &5 1454275 £ (Right)

How many such numbers are there that are immediately followed by a number and also immediately preceded by a

symbol?
Ans XA
XB 4
xXcC 1
+D 3

i)

Question ID : 630680182766
Status : Answered
Chosen Option: D




Q.18 Six presidents with the initials H, G, I, K, L and M, not necessarily in the same order, are sitting around a circular

table. facing the centre and at equal distance from each other.

G is sitting exactly between K and I. L is sitting exactly between M and H. K is sitting to the immediate right of M. H
is sitting to the immediate right of J. Who is sitting second to the left of H?

Ans o A G
XB L
XC K
XD J

Question ID : 630680182738
Status : Answered
Chosen Option : A




Q.19 The sequence of folding a piece of paper and the manner in which the folded paper is cut is shown in the following
figures. How would this paper look when unfolded?

-------- [=fs
L
2R
R
a R
W
TR
RicEss
a R

Question ID : 630680182813

Status : Answered

Chosen Option: D




Q.20 The sequence of folding a piece of paper and the manner in which the folded paper is cut is shown in the following
figures. How would this paper look when unfolded?

________ ! - :AO
! = !
" C——1 C3
- vO VO
AO OA
—1 C3
C—1 C
VO OV
X6
AO C
1
7o 24
xc.
AQ OA
—1 3
C=F=F=]
b vO OV
AO OA
1 .

Question ID : 630680182812
Status : Answered
Chosen Option: D




Q.21 Select the figure from among the given options that can replace the question mark (?) in the following series.

> @[l o~
i: b ]: . .A.

K >
30 @
O &
L)
"N

Ans

=
°
@ 0%

<OR 5
O O
1 @

5 A0
O ®
»& (<

& C

e 3
QO @
4 4

< D.

Question ID : 630680182804

Status : Answered

Chosen Option : A




Q.22 If

‘Z O K’ means “Z is the father of K°,

*Z * K’ means ‘Z is the mother of K°,

*Z & K' means *Z is the brother of K's mother’,

‘Z + K’ means ‘Z is the wife of K’ and

*Z % K’ means *Z is the husband of K’,

then how is P related to C in the following expression?

C+JOL%M*P
Ans X A. Brother’s child
X< B. Son
X c. Daughter’s husband

« D. Son’s child

Question ID : 630680182782
Status : Answered
Chosen Option : D

Q.23 1a queue of 50 passengers, waiting before the ticket counter, A is 20™ from the back end and B is 22% from the front
end. How many passengers are there between A and B?

Ans XA §
XB 7
+C 8
XD 9

Question ID : 630680182747
Status : Answered
Chosen Option: C

Q.24 Seven patients have an appointment with an eye doctor on a different day of the week. U has an appointment on
Thursday. Two patients are between Z and U.A has an appointment on Tuesday. A is between K and M. W is having an
appointment the next day of U.5 people have an appointment between K and Z. Who has an appointment on Monday?

Ans XA T
B K
Xc M
XD A

Question ID : 630680176402
Status : Answered
Chosen Option: B




Q25 Read the given data and answer the question that follows.
¢ Sunil is older than Saman and Renu.
e Renu is younger than Radha and Gauri.
e Bina is older than Radha but younger than Sunil.
e Sunil is not the oldest and Renu is not the youngest.

Who is the oldest among them?

Ans o A Gauri
/< B. Saman
X< C. Radha
X D. Bina

Question ID : 630680177585
Status : Answered
Chosen Option : A

Section : Quantitative Aptitude

Q.1 If(1,3,-3), (2,0, 5), (=6, 3, 7) are the midpoints of the sides of a triangle, find the centroid.
Ans XA (=1,3,1)

XB (1,0, 2)

@ C (-1,2,3)

XD (0,2,3)

Question ID : 630680179638

Status : Answered

Chosen Option: C

Q.2 A gardener had some plants for planting. He tried planting them in rows of 7, 8. 9 and 12. But he always had one plant
left. When he tried to plant 11 in a row, he had none left. Find the minimum number of plants with the gardener.

Ans XA 1804
« B. 3025
X< C. 506
2D 4631

Question ID : 630680179556

Status : Answered

Chosen Option: B




Q.3 The length of a rectangle is increased by 25%, whereas the breadth is reduced by 10%. What will be the percentage
change in the area?

Ans X A Decrease by 12.5%
« B. Increase by 12.5%
X C. Increase by 15%
X D. Decrease by 15%

Question ID : 630680179569
Status : Answered
Chosen Option: B

Q.4 Ifzvariesaspx—2y,andz=35whenx=3and y=2, and z=6 when x =4 and y = 3, find p.
Ans XA 9

 B. 3
xco1
X0 4

Question ID : 630680179586
Status : Answered
Chosen Option : B

Q.5 Acan finish a work in 9 days, while B can finish the same work in 18 days. They set to complete the work together,
but after 2 days. B quits and A completes the work alone. The wages for completion of the work is 13,500, find A’s
share (in ).

Ans ¢ A 11,500
# B. 10,000
X ¢ 9,000
« D. 12,000

Question ID : 630680179605
Status : Answered
Chosen Option: D




Q.6 For the graph given below, select the system of equations whose graph it is from the options given below

Ans

y-aris A

Xcx+3y+6

#D x+3y—6

XA x+3y+6=0,2x—-3y+12
XBx+3y—6=02x+3y—12
0,2x—-3y—-12 =
0,2x—3y—12=0,x=3

0,x=-3
0,x=-3

Question ID :
Status :

Chosen Option :

630680178028

Not Attempted and
Marked For Review

Q.7 The following table shows the sales of five products in thousand units during two years 2019 and 2020.

Ans

Soap 2019 2020
Tux 123 87
Hama 98 109
Kiril 95 72
Nexona 105 132
Antoor 99 65

< A 1,19,000 units
« B. 64,000 units

X c. 87,000 units
2 D. 51,000 units

Find the difference in sales of soaps branded Kiril, Tux and Hama in 2020 to Nexona and Antoor in 2019

Question ID :
Status :
Chosen Option :

630680179613
Answered
B




Ans

XA 24
X B 32
X C 36
« D. 28

Q.8  Thesidesofa triangle are in the ratio 3 : 5 : 6. If the area is 84/14 cm?, find the sum of the sides(in cm).

Question ID : 630680179629

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Ans

the triangle (in c 2).

o A 480
X B 448
X c 424
X 0. 464

Q.9  The perimeter of a right-angle triangle is 120 cm and its two perpendicular sides are in the ratio 5 : 12. Find the area of

Question ID : 630680179625
Status : Answered
Chosen Option : A

Ans

salary is:

< A 12,500

« 8. 10,500

« C. 12,000

X D. 11,500

Q.10 The salaries of Ram and Raghu are in the ratio 2 : 3. If Ram’s salary is 4,000 less than Raghu'’s salary, then Raghu’s

Question ID : 630680177984
Status : Answered
Chosen Option: C

Ans

XA 572
X< B 50.0
XC 554
D 525

Q.11 If the length of the arc of a circle is 7 units, find the area of the sector where the radius of the circle is 15 units.

Question ID : 630680179636

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q.12 Study the following graph carefully and answer the questions given bellow.

Total number of students appeared and qualified from various schools at a scholarship exam.

3500

w
o

Number of student:
I
w Bl B R
3888888

M Appeared M Qualifed

‘What is the ratio of the number of students appeared to the number of students qualified at the scholarship exam from

school B and D?

Ans A 11118
XB 17:26
X C 18:11
D 26:17

Question ID : 630680178017

Status - Not Attempted and
* Marked For Review

Chosen Option : --

. train overtakes two persons walking along the tracks in 9.3 seconds and 9.4 seconds, respectively. The speeds of the
13 Atrai aki lking along the tracks in 9.3 ds and 9.4 d ively. Th ds of th
persons walking in the same direction as the train is 4.5 knvh and 5.4 km/h, respectively. What is the speed of the train

(in knyh)?
Ans o A 89.1
< B 954
X C 932
XD 01.7

Question ID : 630680179596
Status : Answered
Chosen Option : A

Q.14 Shiva buys an article for 2,850 in cash and sells it for 3,600 at a credit of one year. If the rate of interest is 15% per

annum, how much does he gain (in %)? (correct up to one decimal place)
Ans A 280.4
< B. 268.2
X C 276.8
X< D. 270.6

Question ID : 630680177979
Status : Not Answered
Chosen Option : --




Q.15 Geetha's office is 4§ km away from her home. She takes 25 minutes to cycle to her office and 29 minutes to cycle

back. Find her average speed (in km/h).

Ans XA 20
XB 15
xc 12
# 0. 10

Question ID : 630680179558
Status : Answered
Chosen Option: D

Q.16 on selling a book for 144 a seller loses % of the cost. If he sold the book for 2193.20, his gain/loss percentage is:

Ans A 15% gain
< B. 129% loss
< C. 14% loss
X D. 13% gain

Question ID : 630680179574
Status : Answered
Chosen Option : D

Q.17 pcando 2 of a work in 122 days and Q can complete the work alone in 42 days. If P and Q work alternately, how

many days will it take for them to finish the work?

Ans X A 35
XB 24
+ C 28
XD 21

Question ID : 630680179608
Status : Answered
Chosen Option: C

Q.18 Two trains of equal length, running at speeds of 120 kmv/h and 100 kmv/h, respectively. are running on parallel tracks in
the same direction. The faster train crosses the slower train in 45 seconds, the length of each train (in metres) is:

Ans XA 160
X B 150
« C 125
2 D. 140

Question ID : 630680179600
Status : Answered
Chosen Option: C




Q.19 By which smallest number should 588 be multiplied to get a perfect square?
Ans > A 7
B 3
XC 6
XD 2

Question ID : 630680179548
Status : Answered
Chosen Option : B

.20 The compound interest on 4,500 for two vears at the rate of 30% for the first vear and 40% for the second vear will be:
PO ¥y ¥ ¥

Ans XA 28,190
« B. 33,690
< Cc. 24690
< D. 29,000

Question ID : 630680182975
Status : Answered
Chosen Option : B

Q.21 Acertain sum becomes 3 times itself in 10 years at a certain SI p.a. In how many years will it become 10 times itself at

the same simple interest rate p.a?

Ans XA 42
X8 40
& C. 45
X 0. 35

Question ID : 630680177993
Status : Answered
Chosen Option: D

Q22 Factorise S (a + b)2 +~10(a+b)—7.
Ans XA (2a—2b+1)2a—2b+4)

#B (da+4b+7)2a+2b— 1)

Xc (3a—3b+2)2a+2b+3)

XD (3a+3b—4)a+b+3)

Question ID : 630680179619
Status : Answered
Chosen Option: B




9% 2 53+ 1.046 + 0.49 is equal to :
Ans XA 3081

< 8. 5051

¥ C 4,081

<D 4,051

Question ID : 630680184608
Status : Answered
Chosen Option : D

Q.24 Arunner is running around a circular path of radius 3.5 m. If he runs two full rounds and one reverse full round in 120
seconds, find the average speed (in km/h).

Ans XA 2.82
X B 1.24
XC 236
+ D. 1.98

Question ID : 630680179565
Status : Answered
Chosen Option: D

.25 There are 2800 students in a school. out of which 75% participate in a sports competition. Out of those who
p p P p
participate, 60% are boys. 35% of the boys and 25% of the girls qualify for the final round of the competition. What
percentage of the school will participate in the final round?

Ans

XA 2019
3

X B 2129
4

X 22%%

w0 2310
4

Question ID : 630680179573
Status : Answered
Chosen Option: B






